>
N & 0l & AF S & M M
20138 = =& 2 3| YB3 StsS
2AM: otsS
Hu: ANHBINLSY(GSS)

S9l: FOIMFBOICE CERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
R== 477,691 507,446 N29,755
ULHHHZTRR2E(GI=S) 310,698 321,898 A 11,200

FUAHFEYLD 310,698 321,898 A 11,200
FUEABAF 1,350 1,500 A 150

301 LA Z 1,350 1,500 A 150
10 HALAHI 242 1,350 1,500 A 150
0 HEFULHZ L 2t 30 &= 2> 1,350 1,500 A 150
QIAAHARX A 9,450 10,500 A 1,050
405 THabH S| 9,450 10,500 A 1,050
01 HatH ESFH S 9,000 10,000 A1,000
0 3loal HIl7YU<olarE 2> 9,000 10,000 21,000
02 TN 450 500 A50
0 SI3A HIXE SN EHE 2> 450 500 A50
dtsg 22X 151,400 161,400 A 10,000
201 LEr2 A | 95,600 105,600 210,000
01 AtR 22l | 6,500 6,600 A 100
0 2E=E<0larE 2> 5,500 5,600 A 100
02 =224l 87,300 97,000 A 9,700
032323 ¥ HMAHAE2Z> 32,400 36,000 23,600
0 AlE ZHI S XIHI<0 & - 2> 7,020 7,800 A 780
0 Xt etd|<o &t &= 2> 47,880 53,200 25,320
03 &ALl 1,800 2,000 2200
0 2 S ALK <0l AHE 2> 1,800 2,000 A 200
otsS AtE &I 126,907 141,008 A 14,101
=AY 126,907 141,008 A 14,101
A2 FU=SFAAY 126,907 141,008 214,101
401 AIEHI L 20 126,907 141,008 214,101
01 A& HI 126,000 140,000 A 14,000
0 A2 Q=A< AHE 2> 45,000 50,000 A5,000
0 StADIS =2 EZE I AH(L=150m)<0il &+ & 2> 18,000 20,000 A 2,000

0 208 MYz &LE ZH| S AHL=200m)<0
AHE 2> 9,000 10,000 A 1,000
0 MM =2 SHIZZE HHISAH(L=200m)<0fl & & 2> 18,000 20,000 A2,000
0 SZ=0tS =0 ZHISAH(L=30m)<0il &= 2> 18,000 20,000 A 2,000
0GtM= A& MHE= ZAH(IH )0 &= 2> 18,000 20,000 A 2,000
03 AIE 2 THHI 907 1,008 A 101
0 FU=JAAMY AlE SOUHHI<HAHE 2> 907 1,008 A 101
HY2FZH (ot=SS) 40,086 44,540 N4,454
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